

19, 75

نام و نام خانوادگی: پستی: پاسنامه تشریحی تکلیف شماره ۳ کلاس: تاریخ:

الف) $y = \frac{x+3}{x^3 + 3x^2 + (-1)x + 3}$ $\frac{x^3 + 3x^2 - 1x + 3}{-x^3 + 3x^2} \mid x-1$ $\frac{2x^2 + 0x - 3}{(x-\frac{1}{3})(x+3)}$ $D_f = \mathbb{R} - \{1, \frac{1}{3}, -3\}$

ب) $y = \frac{x+3}{x^3 + 9x^2 + 10x + 3}$ $\frac{x^3 + 9x^2 + 10x + 3}{-x^3 - 9x^2} \mid x+1$ $\frac{2x^2 + 4x + 3}{(x+\frac{1}{3})(x+3)}$ $D_f = \mathbb{R} - \{-3, -\frac{1}{3}, -1\}$

الف) $y = \frac{x+3}{x^3 - 2x^2 + 2x - 1}$ $\frac{x^3 - 2x^2 + 2x - 1}{-x^3 + 2x^2} \mid x-1$ $\frac{x^2 - x + 1}{x^2 - x + 1}$ $D_f = \mathbb{R} - \{1\}$

ب) $y = \sqrt{\frac{x+3}{x^3 - 2x^2 + 2x - 1}}$ $= \sqrt{\frac{(x+3)}{(x^2 - x + 1)(x-1)}}$ $\frac{-3}{+0 - 0 +}$ $D_f = \mathbb{R} - (-3, +1]$

$y = \frac{x}{x^3 - \omega |x-1| - 2x + \omega}$

$x^3 - \omega |x-1| - 2x + \omega = 0$

$x-1 > 0 \rightarrow x^3 - \omega x + \omega - 2x + \omega = 0 \rightarrow x^3 - 3x + 3\omega = 0 \rightarrow x = 2 \leq \omega$

$x-1 < 0 \rightarrow x^3 + \omega x - \omega - 2x + \omega = 0 \rightarrow x^3 + 3x = 0 \rightarrow x = 0 \leq -\omega$

$D_f = \begin{cases} x \geq 1 : \mathbb{R} - \{2, \omega\} \\ x < 1 : \mathbb{R} - \{0, -\omega\} \end{cases}$

الف) $y = \frac{x+3}{|2x+1| - |x+3|}$ $|2x+1| - |x+3| = 0$ $\rightarrow 2x^2 + 1 + 2x = x^2 + 9 + 4x$ $\rightarrow x^2 - 2x - 8 = 0 \rightarrow x = \frac{2 \pm \sqrt{4 + 32}}{2} = \frac{2 \pm 6}{2}$ $D_f = \mathbb{R} - \{2, -\frac{8}{3}\}$

ب) $y = \sqrt{|2x+1| - |x+3|}$ $|2x+1| - |x+3| \geq 0 \rightarrow |2x+1| \geq |x+3|$ $x^2 - 2x - 8 \geq 0 \rightarrow \frac{-\frac{2}{3}}{+\frac{1}{3} - \frac{1}{3} +}$ $D_f = \mathbb{R} - (-\frac{8}{3}, 2)$

الف) $y = \log_r(1 - \log_{\frac{x}{r}})$ $I \ x > 0$ $II \ 1 - \log_{\frac{x}{r}} > 0 \rightarrow \log_{\frac{x}{r}} < 1 \rightarrow x < r$ $D_f = I \cap II = (0, r)$

ب) $y = \log_r(1 - \log_{\frac{x}{r}})$ $I \ x > 0$ $II \ 1 - \log_{\frac{x}{r}} > 0 \rightarrow \log_{\frac{x}{r}} < 1 \rightarrow x > \frac{1}{r}$ $D_f = I \cap II = (\frac{1}{r}, +\infty)$

$f(n) = \sqrt{\log_{\frac{1}{2}}^{(r_{n-1})}}$ $D_f = I \cap II \cap III = (1, r]$ I $r_{n-1} > 0 \rightarrow n > \frac{1}{r}$ II $\log_{\omega}^{r_{n-1}} > 0 \rightarrow r_{n-1} > 1 \rightarrow n > 1$ III $\log_{\frac{1}{2}}^{\log_{\omega}^{(r_{n-1})}} > 0 \rightarrow \log_{\omega}^{(r_{n-1})} \leq 1 \rightarrow r_{n-1} \leq \omega \rightarrow n \leq r$	6
الف) $y = \log(r \cos n + 1)$ $r \cos n + 1 > 0 \rightarrow \cos n > -\frac{1}{r}$ $D_f = \mathbb{R} - \left[k\pi - \frac{\pi}{r}, k\pi + \frac{\pi}{r} \right] \quad \left(r k\pi - \frac{r\pi}{r}, r k\pi + \frac{r\pi}{r} \right)$ ب) $y = \sqrt{\log \frac{n-1}{n+1}}$ I $\frac{n-1}{n+1} > 0 \rightarrow \frac{-1}{+2} - \frac{1}{-2} > 0$ II $\log \frac{n-1}{n+1} > 0 \rightarrow \frac{n-1}{n+1} > 1 \rightarrow \frac{n-1-r}{n+1} > 0 \rightarrow \frac{-1}{+2} > 0$ $D_f = I \cap II = (-\infty, -1)$	7
$f(n) = \sqrt{(a+r)n^2 + an + b}$ $D_f = (-\infty, r] \rightarrow \text{دایره به دو نقطه} \rightarrow a+r=0 \rightarrow a=-r$ $f(n) = \sqrt{-rn + b}$ $y=0 \rightarrow 0 = \sqrt{-r+b} \rightarrow b-r=0 \rightarrow b=r$ $D_f = \frac{r}{+2} -$	8
$f(n) = \sqrt{n^2 + rn + r - m^2}$ $D_f = \mathbb{R} \rightarrow \Delta \leq 0 \rightarrow \varepsilon - \varepsilon(1-m^2) < 0 \rightarrow 1 - r + m^2 \leq 0 \rightarrow (m-1)(m+1) \leq 0$ $\frac{-1}{+2} - \frac{1}{-2} \rightarrow m_{\max} - m_{\min} = 1 - (-1) = 2$	9
$f(n) = \frac{\sqrt{\varepsilon - n^2}}{[n] + [-n] + 1}$ I $\varepsilon - n^2 \geq 0 \rightarrow n^2 \leq \varepsilon \rightarrow -r \leq n \leq r$ II $[n] + [-n] + 1 \neq 0 \rightarrow [n] + [-n] \neq -1 \rightarrow \mathbb{Z}$ $D_f = I \cap II = \{-r, -1, 0, 1, r\} \rightarrow \text{مجموعه}$	10